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Tsonis 4.2: A sample of 100 g of dry air has" initial T of 270 K and p = 900 mb.
During an isobaric process heat is added and the volume expands by 20% of

‘the initial volume. Estimate (a) final temperature, (b) heat added, and
(c) work done against the environment.
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Tsonis 4.2: A sample of 100 g of dry air has initial T of 270 K and p = 900 mb.
During an isobaric process heat is added and the volume expands by 20% of
the initial volume. Estimate (a) final temperature, (b) heat added, and
(c) work done against the environment.


Tsonis 4.5: Assume that you are on the top of a mountain at an altitude of
15,000 ft and there are no clouds above or below. If the T = -12 C, what will
the temperture be at 3500 ft altitude?
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Tsonis 4.5: Assume that you are on the top of a mountain at an altitude of 
15,000 ft and there are no clouds above or below.  If the T = -12 C, what will
the temperture be at 3500 ft altitude?


Tsonis 4.7 A sample of dry air -has a T = 300 K, a volume = 3 liters, and
p = 4 atm. The air undergoes the following changes: (a) warmed at const p to
500 K, (b) cooled at const V to 250 K, (c) cooled at const p to 150 K, and
(d) warmed at const V to 300 K. (1) Describe graphically -~ on a (p,vV) diagram

each of these changes, (2) calculate the total work done.
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Tsonis 4.7: A sample of dry air has a T = 300 K, a volume = 3 liters, and 
p = 4 atm.  The air undergoes the following changes: (a) warmed at const p to 
500 K, (b) cooled at const V to 250 K, (c) cooled at const p to 150 K, and
(d) warmed at const V to 300 K.  (1) Describe graphically on a (p,V) diagram
each of these changes, (2) calculate the total work done.
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